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44, Solve using the multiplication principle. Don't forget to perform a check.
9x=-63
The solution is ==__

45 Solve by climination method

Sichdy=2

bickgy=4

What is the solution of the system? __

(Type an ordered pair. Type an integer or a fraction. Type N if there is no solution. Type
Tif there are infinitely many solutions.)

46. Solve
-19=4x-62-5
(===}

(Type an integer or a fraction)

50. Translate to an algebraic expression.
The product of 17% and some number
The translation is

54. Solve
0.3x<-9

The solution is (]_)
(Type an inequality)
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This Question: 1 pt

This Test: 56 pte 20£ 56 complete

Trains 4 and B are traveling in the same direction on parallel tracks. Train 4 is fraveling at 60
miles per hour and frain B is raveling af 70 miles per hour. Train 4 passes a stafion at

12:10 A M. If train B passes the same station at 1240 4 M., at what time will train B catch up
totrain A7

When will rain B catch up wih train A7
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Enter any number ar expression in each of the edit fields, then dlick Next ar Previous. @
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